(& E &l

@ TR A B amsd

FUTECH PRECISION CO., LTD.

42951 P HHRHESRMIE70EG6-6K - .
NO. 6-6, LN. 70, SHENLIN RD,, SHENGANG DIST, gt

TAICHUNG CITY 42951, TAIWAN
Y N

E-MAIL : ft0405@futech.com.tw
TEL: SRg=-2ae10080 O B2 fE o= FUTECH PRECISION CO., LTD.

FAX : 886-4-25610055 -

HIGH SPEED
: | HYDRAULIC CHUCK
15 4 = il

o ROTARY
HYDRAULIC CYLINDER
BECESSORY

RE MIT 1Y
BNFEET

www.futech.com.tw

B CERE



~al it 48 COMPANY INTRODUCTION i 14 HJfE M

ACLESSORIES STANDARD HARD JAW
SRBEBRHERAS - RIR 2015 £ OELERELERARASELEER
ABIEERT - BREBTABL 60 A - BASMTHER 15 £ LR RRH TR - It
BRTERASAN T M EMESEN -
BR 2017 £ 4 BRALEREFREEROERADHESERY " LELSHEENE  EEERE -
BAS - BEEERSHE -AASEEAE CNC S5k - CNC 2PEEMTE - CNC B  REERES  EASAKSS -
WSS BERSENEHAKE (%) SRS REARSERGE  TRTER  BES  REERSE -

MRS REREEHARARE  UZE12RZBRIBEERERGE—EER .
- Standard hard jaw.

- Itis made of high strength steel,
FUTECH PRECISION CO.,, LTD.,, established in 2015 by Hong Kong RICH SECURE INTERNATION which can bear high clamping force.

LIMITED and Taiwan FOAN CO.,, LTD. FUTECH currently holds nearly 60 employees, including a strong . High hardness, not easy to be damaged.
team of senior techinical engineers that have an average of 15 years experiences in machine tool fac-

tories. In April, 2017, SHANGDONG TAIFU PRECISION MACHINERY CO,, LTD. financed by FUTECH and

YANTAI UNIVERSAL MACHINE TOOL EQUIPMENT CO,, LTD. H6 Hs

— H6 H8
FUTECH produces CNC Lathes, Tapping centers, Double column high speed cutting centers, High T H10 H10 H2
speed hydraulic chucks, Rotary hydraulic cylinders and other accessories. For higher quality, FUTECH . | i mE
: ; ? ; ; ; ; = H9 T I ]
and ITRI developed a chuck testing equipment, which examine strictly each set of chucks with 12 in- + LI“J : 2 aoy| | = £
R 17 ] 1] ]
spection items. o — === T .
\ L \
H12/ | H7_| H7 | “Serration T Serraton T ‘-—I
HEE Hre
= Serration Serration
= 60° 60°
= -
©
H1 . H1
Bogses | o Fig-1 Fig-2
AR A Al EE MTE
= = =
EERM =MEE (k)
| b A o f ) Reference
Matching chuck 3 Jaw weight drawing
HJ-05 |53 | 23 |275| 10 | 4 [305| 14 |225| 85 [135| 10 | M8 | 6 CH3-05 04 Fig-2
HJ-06 67 31 35 12 5 40 20 | 275 | T 17 12 | M10| 11 CH3-06 - CM3-06 1.0 Fig-2
HJ-08 86 35 51 14 5 31 25 18 13 19 12 | M12| 12 CH3-08 - CM3-08 18 Fig-1
HJ10 [ 101 | 40 | 54 | 16 | 5 | 43|30 | 17 [ 13 | 19 | 13 |m12| 15 | CH3-10- CM3-10 29 Fig-1
HJ12 [103| 50 | 52 | 21 | 5 |625| 30 [405| 17 | 25 | 17 |m16] 30 CH3-12 35 Fig-2
HJ-12M | 103 50 52 18 5 625 | 30 | 405 | 15 22 17 | M14 | 30 CM3-12 36 Fig-2
HJ-15 149 | 62 86 22 8 63 43 34 21 32 20 | M20 | 40 CH3-15 96 Fig-1

|‘ =
|. I.I ‘ ! i
| ||||-|'||| I S— __ I HJ-15M | 149 | 62 86 | 25.5 5 63 43 34 21 32 20 | M20 | 40 CM3-15 95 Fig-1



11

- Standard soft jaw.

Ao 14 SJERY M

ACCESSORIES STANDARD SOFT JAW

IRAERI LR -
RAS®REN  SREM -

High strength steel is adopted, which can
be easy to boring.

S6 , S7 . S8 S2

S3
S11
€

H12 / sl \  HiE Bl -S4

Serration
al Heth
© Serration
» 60°

__.@_@.___

S1

I =S (kg)

Matching chuck 3 Jaw weight
$J05 62 25 | 30 | 10| S | 10 14|38 | 9 | 14 | 20| M8 | 3 CH3-05 07
$J-06 | 73 | 31 | 3 | 12 | 5 | 15 | 20 | 38 | 11 | 17 | 24 | M0 14 oo 15
$J-08 | 95 | 35 | 37 | 14 | 5 | 24 | 25 | 46 | 13| 19 | 22 | m12| 16 S 24
$J10 | 110 40 42 16 | S | 30 30 S0 | 13 | 19 | 27 | MI12| 18 as 37
$J12 | 130 | 50 | 50 | 21 | 5 | 39 | 30 | 61 | 17 | 25 | 30 | M16| 23 CH3-12 65
SJ12M | 130 | 50 | 50 | 18 | 5 | 39 | 30 | 61 | 15 | 23 | 30 | M14 | 23 CM3-12 66
SJ15 | 165 | 62 | 62 | 22 | 8 | 37 | 43 | 8 | 21 | 32 | 37 | M20 | 62 CH3-15 12,5
SJ-15M | 165 | 62 | 62 | 255 | 5 | 37 | 43 | 85 | 21 | 32 | 37 | M20 | 62 CM3-15 124

H &

= 4 5t EA 32 B
HIGH SPEED }
HYDRAULIC

CHUCK

300 9 5 2R L
ROTARY }
HYDRAULIC

CYLINDER

fic &

ACCESSORIES

15 filg & 1
TECHNICAL
INFORMATION

CH3

— M ZESEHEIEA

3-JAW THRU-HOLE HIGH SPEED HYDRAULIC CHUCK
CM3

=M & 5 0 B2 35

3-JAW SOLID HIGH SPEED HYDRAULIC CHUCK

HHR
ZE 30§ 0H BRI ( MhELERa )

THRU-HOLE ROTARY HYDRAULIC CYLINDER
WITH CHECK VALVE

HHS
8 B op 22 0 85 0 BA L ( piiELeRa )

SHORT TYPE THRU-HOLE ROTARY HYDRAULIC
CYLINDER WITH CHECK VALVE

MHR-C
o E M BT (MR )

SOLID ROTARY HYDRAULIC CYLINDER
WITH CHECK VALVE

MHR-CS

k- oh 8 T 5FH BE BT ( M LR RATIEER )

SOLID ROTARY HYDRAULIC CYLINDER
WITH CHECK VALVE AND STROKE CONTROL

CT/CT-S

£ KE (R HHR R5HEES )
COOLANT COLLECTOR

(Matching HHR Series Rotary Hydraulic Cylinder)
CW/CW-S

K E (R HHS %55 E0MmEE )
COOLANT COLLECTOR

(Matching HHS Series Rotary Hydraulic Cylinder)

‘ SJ
T
- STANDARD SOFT JAW
H

B8n =

STANDARD HARD JAW

PENRRIGTEERE

THE CALCULATION AND MANUFACTURE OF DRAW PIPE

PEANRNFEERE

THE CALCULATION AND MANUFACTURE OF DRAW PIPE

01
03

05
.06

07
08

09

w10

e 11
i 12

13
14



=3 B R CH3 = T\ & ZE = 7% ;i [BX 7% g8 AofF B CW/CW-S £ JK E (@M HHS 2582 E )

HISH 3¢ EED ACCESSORIES
HYDRAULIC 3-JAW THRU-HOLE HIGH SPEED HYDRAULIC CHUCK COOLANT COLLECTOR
CHUCK (Matching HHS Series Rotary Hydraulic Cylinder)

BN MBS A ERREARSHE TH -

EEBEARS GB/T 5900.1 -~ 1SO 702-1 7 A2 Bl T dh in B 1R 2 i
I, . - AR SEa R ER
 EASESENTEE - AR E G T8 AR BBl R

- JERCH P 2R EEH B -
- Wedge-type 3-jaw power chuck with the large thru-hole is able to penetrate shaft type workpiece. - CW-S ENETEEHES -
- Connection type is designed according to the standard of GB/T 5900.1 or ISO 702-1.
- Suitable for high precision and high speed requirements. - Collect the coolant flowing out of the hole of the spindle.
- Matching thru-hole rotary cylinder.

CH3 # ¥l SERIES - CW-S type with stroke control.

| . - 200kN
—CHI 1S - |
| . (4]
L 4 4 + 150
—CH3-12 ,§
cH3-10 g
o | : f100 B CW
= CHI-08 , g Mﬁ
—CH3-06 | R
' 50
— CH3-05 et = :
| . | 0 X
0 1000 2000 3000 4000 S000 6000 7000 8000 r/min

A E Rotation Speed

7 57 8 3R B 2 55 ) I {4 A% [
The relation diagram of rotational speed and gripping force

0
c
D

Ed B mTe Hif BAREN o, aBX iENEEE {Ei4E

Item EiE = [EE) GAENAD Max ﬂ,ﬁ’::L ﬁﬁ EEEN ﬁ”’ji!” iﬁiﬁ?n Jamming =ififli@ =HE Moment
izt Plunger Jaw slorkeMak DB. clamping _ oo HETLER gy %R sk range  Thru-hole Weight of
Taper storke  (Dia.) pull force pe Matching pressure Matching Matching : inertia
e hole cyl. hard jaw softjaw max G
Model mm mm ¢ kN r/min MPa mm mm kg kg'm? H
Ad 78 0.020
CH3-05 10 54 17.1 36 7000 | HHR-536 2.8 HJ-05 5105 135 6 33
a5 9 | 0023 EREEHE =5 (kg)
Ad 155 0.065 Matching Cy|. Weight
CH3-06| AS 12 55 215 57 6000 | HHR-646 28 HJ-06 SI-06 | 169 | 15 45 14.7 0.062 CW-05 0.9
AB 173 0.073 S| 87 110 88.5 98 110 57 31 B4 M5*0.8 86 HHS-536
A5 258 | 0190 — M
CH3-08| A6 16 74 343 87 5000 | HHR-852 26 HJ-08 5J-08 210 | 10 52 25 0.184 CW-06 1.2
A8 293 0217 — 100 125 98 116 120 64.5 38 78 Me*1 94 HHS-646
CW-06S 1.6
Ab 40 0.370
CH3-10| A8 | 19 838 426 111 4200 |HHR-1075| 27 | HJ10 | S-10 | 254 | 25 75 38 | 0340 Cw-08 1.3
— 110 138 110 128 130 Al 41 84 Me*1 105 HHS-852
i £l CW-08S 18
Ab 62 0.809
CH3-12| A8 23 10.6 54.9 144 3300 |HHR-1291| 2.7 Hi-12 5112 304 | 30 9 60 0.770 = b
" : 2 : = — 158 185 155 164 159 a5 45 g8 Me*1 130 HHS5-1075
A1 70 0912 CW-10S 2.6
A8 125 2.255
CW-12 1.9
CH3-15| A1l 23 10.6 Al 180 2500 [HHR-1512| 23 HJ-15 SJ-15 | 381 | 50 1175 118 2.241 — 1 158 185 165 180 159 95 45 88 ME*1 145 HHS-1291
A15 138 | 2822 CW-128 2.6

10



fic {4 ’CT/CT S ££ JK B (B HHR R5HELT) = & H B 5 BR

HIGH SPEED
ALEERRORIES COOLANT COLLECTOR HYDRAULIC
(Matching HHR Series Rotary Hydraulic Cylinder) CHUCK

S

mmwﬁﬁimm%m&ﬁﬂﬂﬁ°
3 fio 5RO 25 30 98 i B A -

CH3 =f{ ¢t

CT-SENGETRZEHERSE -

- Collect the coolant flowing out of the hole of the spindle.
- Matching thru-hole rotary cylinder.

- CT-S type with stroke control.

1 ZE 15 338 jH [B2 38 5

3-JAW THRU-HOLE HIGH SPEED HYDRAULIC CHUCK

Fig-2

sehgs
u

Fig-1
M
=5 M-
773" U |
\—l' el = o0
4:08"; "H*u.
S8 '&88 Krﬂa
| L1 O
_lr_'l._j Ef Q
L €
i ,
E1 B

s=g
A s Reference
CT-S 'ei M Drawing

i k CH3-05A4 | 135 71 110 | 82.55 | 63.513 96 4 15 33 16 6 20 Fig-1

W \

t N 2-M12x CH3-05A5 | 135 | 88 | 110 | 104.78 | 82.563 | 8255 | 4 | 32 33 33 23 20 Fig-3

'1[' CH3-06A4 | 169 96 140 | 8255 | 63.513 | 10478 | 5 | 20 45 31 19 20 Fig-2

4 CH3-06A5 | 169 91 140 | 104.78 | 82.563 116 5 15 45 26 14 20 Fig-1

/"\ . N /"\ CH3-06A6 | 169 | 111 | 140 | 133.35 | 106.375| 10478 | 5 | 35 45 46 34 20 Fig-3

8 = CH3-08A5 | 210 | 109 | 170 | 104.78 | 82.563 | 13335 | 5 | 23 52 37.5 215 | 205 Fig-2

\K)/ B \K_/J CH3-08A6 | 210 | 103 | 170 | 133.35 [ 106375 | 150 5 17 52 315 15.5 | 205 Fig-1

o = CH3-08A8 | 210 | 126 | 170 | 171.45 | 139.719 | 13335 | 5 | 40 52 54.5 385 | 205 Fig-3

Wi CH3-10A6 | 254 | 120 | 220 | 133.35 | 106375 | 17145 | 5 | 25 75 335 14.5 25 Fig-2

§ CH3-10A8 | 254 | 113 | 220 | 171.45 | 139.719 | 190 5 18 75 26.5 7.5 25 Fig-1

AT 1 CH3-10A11 | 254 | 145 | 220 235 | 196.869 | 17145 | 5 50 75 58.5 39.5 25 Fig-3

== < CH3-12A6 | 304 | 129 | 220 | 133.35 | 106.375 | 17145 | 6 | 25 91 33 10 28 Fig-2

——

2 — — CH3-12A8 | 304 | 122 | 220 | 171.45 [ 139.719 | 190 6 18 91 26 3 28 Fig-1

CH3-12A11 | 304 | 154 | 220 235 | 196.869 | 17145 | & 50 91 58 35 28 Fig-3

) BEEWHE SE ko) CH3-15A8 | 381 | 160 | 300 | 171.45 [ 139.719 | 235 6 | 33 | 1175 40 17 43 Fig-2

Matching Cyl.  Weight CH3-15A11 | 381 | 149 | 300 235 | 196.869 | 260 6 | 22 | 1175 29 6 43 Fig-1

CT.05 = = 08 CH3-15A15 | 381 | 184 | 300 | 330.2 | 285775 | 235 6 57 | 117.5 64 a1 43 Fig-3
———1 825|106 | 715 | 35 PT3/4 | 166 40 | 75 | 555 | 105 | 6M5 | 88 | HHR-536 ey
CT-055 77 M44x1.5 1.0 Ritarencr:
Drawing

CT-06 - — 1.2 CH3-05A4 | M40x15 | 3-M10 | 15 | 31 | 62 14 263 205 5.2 25 10 3-M6 45 Fig-1
——_|1175) 142 | 855 | 42 PT1 | 325 48 | 87 74| 130 | 4-M5 | 98 | HHR-646 ——— CH3-05A5 | M40x15 | 3-M10 | 14 | 31 | 62 | 14 26.3 205 52 | 25 10 | 6-M10 | 45 Fig-3

CT-06S 107 M52x1.5 16 -
CH3-06A4 | M55x2 | 6-M10 | 16 | 37 | 73 | 20 326 242 95 31 12 | 6M10 | 60 Fig-2

&Tio8 B B i CH3-06A5 | Ms5x2 | 6-M10 | 16 | 37 | 73 | 20 326 242 95 31 12 3-M6 60 Fig-1
CT-08S 107 M58x1.5 16 CH3-08A5 | M60x2 | 6-M12 | 14 | 38 | 95 | 25 395 305 | 111 | 35 14 | 6-M10 | 66 Fig-2
CH3-08A6 | M60x2 | 6-M12 | 18 | 38 | 95 | 25 395 305 | 111 | 35 14 3-M6 66 Fig-1

CT-10 == == 13 CH3-08A8 MBOx2 | 6-M12 24 38 95 25 395 305 11.1 35 14 6-M16 66 Fig-3
— 155 | 184 | 865 | 425 PT1 | 325 80 | 123 | 94 | 150 | 4-M6 | 155 [ HHR-1075 |—— CH3-10A6 mM8sx2 | 6-M16 | 18 | 43 | 110 | 30 53.8 340 | 111 | 40 16 6-M12 | 94 Fig-2
CT-108 b aiac 2 CH3-10A8 | M85x2 | 6-M16 | 24 | 43 | 110 | 30 53.8 340 | 111 | 40 16 3-M8 94 Fig-1
P — — - CH3-10A11 | M85 | 6-M16 | 28 | 43 | 110 | 30 53.8 340 | 111 | 40 16 | 6-M20 | 94 Fig-3
CT-12S8 147 MI9x2 21 CH3-12A8 | M100x2 | 6-M16 | 25 | 51 | 130 | 30 61 465 | 117 | 50 21 3-M8 | 108 Fig-1
CH3-12A11 | M100x2 | 6-M16 | 28 | 51 | 130 | 30 61 465 | 117 | 50 21 6-M20 | 108 Fig-3

CT-15 = - 15 CH3-15A8 | M130x2 | 6-M20 | 24 | 66 | 165 | 43 82 452 | 152 | 62 22 | s-M16 | 139 Fig-2
1200 230|895 44 PTT | 325 120 | 179 | 117 | 180 | 4-M6& | 206 [ HHR-1512 |——— CH3-15A11 | M130x2 | 6-M20 | 28 | 66 | 165 | 43 82 452 | 152 | 62 22 3-M10 | 139 Fig-1
CT-158 192 M134x2 24 CH3-15A15 | M130x2 | 6-M20 | 29 | 66 | 165 | 43 82 452 | 152 | 62 | 22 | 6-M24 | 139 Fig-3




= 48 i [ER IE B — = = 3k ik B —
HYDRAULIC 3-JAW SOLID HIGH SPEED HYDRAULIC CHUCK
CHUCK

MA=MPEH -

EERIRKS GB/T 5900.1 - 1SO 702-1 o0 A2 B ¥ @i BiAZ % -
BEBEESERMTEX -

Wedge-type 3-jaw solid power chuck.

Connection type is designed according to the standard of GB/T 5900.1 or ISO 702-1.
Suitable for high precision and high speed requirements.

CM3 # ¥I|SERIES

300 kN

—CM3-15 L250 ©
£

L 200 w

£

—CM3-12 150 &
—

—CM3-10 L 100 ©
—CM3-08 =
—CM3-06 5o ¥
#

L0
0 1000 2000 3000 4000 5000 60DOF/min

JEpEEE Rotation Speed

Ble 07 9 720 £ B 55 ) o) 4 AR
The relation diagram of rotational speed and gripping force

T HEEE o e

= FE  BY BARE : :
L muEE JTHW;? :m?z:ﬂ = M‘Eﬁ‘h W . =X - — Jamming  \yeiohe Moment of
WIS plunger (BE) SHEHL ax. . : : WA BT range inertia
Tanior Jaw storke Max. D.B. clamping : = Max FIE MEESE
hg|p Stacke (Dia.) pull force 0 Matching pressure Matching Matching .
' cyl. hard jaw softjaw mMax min kg kg
mm kN kN r/min MPa mm
A4 145 | 0062
CM3-06 | A5 | 20 9.2 18 525 | 5200 |MASA%2| 26 | H-06 | S-06 [165| 18 | 139 | 0056
A6 158 | 0059
AS 268 | 0154
MHR-125
CM3-08 | A6 | 21 97 25 75 | 4s00 [Vecis2| 25 Hi08 | S108 |210| 26 | 256 | 0147
A8 30 0172
A6 418 | 0350
CM3-10 | A8 | 25 88 29 108 | 4000 |MHRI21 28 | W0 | s10 | 254 | 26 | 396 | 0330
A1 50 0417
A6 676 | 0760
CM3-12 | A8 | 30 106 a1 156 | 3300 |MR&I01 27 | Hi12m | si12m | 304 | 26 | 655 | 0750
A1 759 | 0888
A8 119 | 2120
CM3-15 | A11 | 35 160 82 249 | 3000 |MHR2001 35 | hysm | siism | 381 | 68 | 113 | 2050
A15 132 | 2560

MEHEEL O MHR-CS o = 30 55 jH B {1 (memmiTizeen)

ROTARY
HYDRAULIC SOLID ROTARY HYDRAULIC CYLINDER
CYLINDER WITH CHECK VALVE AND STROKE CONTROL

&F - KSEIEEM -

NEFILHB#HKEE TREEBENFEAEBLIRKER -
EBERANBEDARBRE  HEKSTH -
RENZOFER - TREEBERE  ®BatlEFLE -

High speed, light weight.
Built-in check valve, which prevents the internal pressure

from sudden decline, for the purpose of maintaining steady clamping.
With proximity sensor - the movement of the position is easy to adjust
and confirm when operating.

w

2:M12x1 [ li : D@ _ | |anmn. |

@E
l
2
@
o
i
3
. P
(
/ o
@F
OF
@D
@c
45

JIC UNF9/16

EENE FEFR 2 AYEEDH BARLT BAGHBS  a BitE = SHE
Piston  Piston Eff pistonarea  Max. outputforce  mMax. operating Ma‘r‘mr ced  Momentof Weight Total
1.D. stroke 3@ Push #1E Pull ¥ Push 314 Pull Pressure “5P inertia 9 leakage
mm mm cm? cm? kN kN MPa r/min kg-m? kg L/min
MHR-105Cs 105 20 86 79 32 29 40 6000 0.013 76 0.8
MHR-125CSs 125 25 122 113 46 42 40 6000 0.023 10.5 0.8
MHR-150CS | 150 30 176 160 66 60 40 5500 0.048 14 08
MHR-200CS | 200 35 314 290 117 108 40 5500 0.098 22.5 0.8
D »

MHR-105CS | 105 | 20 | 135 | 100 | 80 | 30 | 45 | 25 [ &89 | 63 | 168 | 257 | M20x35 6-M10x20 21 69 23

MHR-125CS | 125 | 25 | 160 | 130 | 110 | 35 51 26 97 63 | 168 | 265 | M24x44 6-M12x24 25 69 23

MHR-150CS | 150 | 30 | 190 | 130 | 110 | 45 | 56 | 26 | 106 | 63 | 168 | 274 | M30x45 | 12-M12x24 31 69 23

MHR-200CS | 200 | 35 | 245 | 145 | 120 | 55 69 34 | 122 | 61 | 168 | 288 | M3ex60 | 12-M13x30 37 67 28

*EIFEBESE
The proximity switch needs to be purchased separately.



WHE B MHR-C o 5 3 8 i EE AT (weem) REEILIUR ) CM3 = [T oh 7% /& 3 St 2

ROTARY HIGH SPEED
HYDRAULIC SOLID ROTARY HYDRAULIC CYLINDER HYDRAULIC 3-JAW SOLID HIGH SPEED HYDRAULIC CHUCK
CYLINDER WITH CHECK VALVE CHUCK
Fig-2 Fig-1
s _ 3 i
g 5 T 5 M
) : U B [ 11
@} 7°7'30" 3 r—
V== : - "
5 ' E3 T
S BEH . © 1 N T N ==Ciey
[m]
" N . (E1] =2
NEYIFTHEE#HEE  EREBRIEIETBHIRWER - PRa v L1 B = E ' i
i [m) Wil L
¢ | Q [ N
BEANBEBEODAKER  SERXEFITH - - K/ = . o
Fig-3 5]
=
‘ ' ‘ @7 o SEIS T S8 L1
High speed, light weight. D & & = == g
Built-in check valve, which prevents the internal : :EL
. IR —
pressure from sudden decline,for the purpose of - E1 i a El.
maintaining steady clamping. L1 B
B = B 0 L) B R
o 5 - Dira a
CM3-06A4 | 165 | &9 140 82.55 65513 | 10478 | s 20 | 21 846 64.6 36 Fig-2
] G CM3-06A5 | 165 | 84 140 10478 | 82563 116 5 15 21 896 69.6 36 Fig-1
CM3-06A6 | 165 | 104 140 13335 | 106375 | 10478 | S 35 21 696 | 496 36 Fig-3
H2 H 5 CM3-08A5 | 210 | 103 170 10478 | 82563 | 13335 | 5 23 25 109 88 36 Fig-2
1 H1 b CM3-08A6 | 210 | 97 170 13335 | 106375 150 5 17 25 115 94 36 Fig-1
CM3-08A8 | 210 | 120 170 17145 | 139719 | 13335 | 5 40 25 92 7 36 Fig-3
_»—D [ ] 5 CM3-10A6 | 254 | 109 220 13335 | 106375 | 17145 | s 25 34 133 108 36 Fig-2
A:fEI1.D. //1’ =2 2:M5x10 CM3-10A8 | 254 | 103 | 220 | 17145 | 139719 | 190 5 18 | 34 | 190 | 115 | 36 Fig-1
[==]
N A W al& SIS 8 3 CM3-10A11| 254 | 134 220 235 196869 | 17145 | S so | 34 108 83 36 Fig-3
B:7#2ST. ~ w .
M 2 2.JIC UNF9/16 CM3-12A6 | 304 | 125 220 13335 | 106375 | 17145 | 6 25 34 138 108 36 Fig-2
] T e A— CM3-12A8 | 304 | 1165 | 220 17145 | 139.719 190 6 18 34 145 115 36 Fig-1
(n_—r, e tj\\ CM3-12A11| 304 | 150 220 235 196869 | 17145 | 6 50 34 113 83 36 Fig-3
‘7\_ @30 \ PT1/4 CM3-15A8 | 381 | 141 300 17145 | 139.719 235 6 = 71 36 55 Fig-2
L 80 JIC UNF9/16 i
CM3-15A11| 381 | 130 300 235 196.869 260 6 2 | — 82 47 55 Fig-1
CM3-15A15 381 | 165 300 3302 | 285775 235 6 = 47 12 55 Fig-3
AB DR
Q R R =
4 B o ? . 3
B — = SE S EREEAEMA BAEHA EXERED i B E e ". g
Dim. F:E%Wﬂé E_ff_P On area Max. outputforc(_.\ Max. i oo 0 o8 MGITI.PI'II of | Total CM3-06A4 | M16x20 | 6-M10 16 39 73 20 38.2 17.2 11 3 12 6-M10 34 Fig-2
iston |.D. - o ti Max. speed sy i :
stoke @ Ppush WMEIPull HAPush WAPUl praceure peed " inertia leakage CM3-06A5 | M16x20 |6M10| 14 [ 39 | 73 | 20 | 382 | 172 | m 31 12 | 3me | 34 Fig-1
mm cm? cm? kN kN MPa r/min kg-m? L/min CM3-06A6 | M16x20 | 6-M10 | 16 | 39 | 73 20 | 382 | 172 | 1 31 12 6-M12 34 Fig-3
MHR-105C | 105 20 86 79 32 29 40 6000 0.013 71 08 CM3-08A5 | M20x25 | 6-M12 | 14 | 41 | 95 25 | 429 | 23 94 35 14 6-M10 38 Fig-2
MHR-125C | 125 25 122 113 46 a2 40 6000 0.023 10.0 08 CM3-08A6 | M20x25 | 6-M12 | 18 | 41 | 95 25 | 429 | 23 9.4 35 14 3-M6 38 Fig-1
e - o - = - P p— o _— - CM3-08A8 | M20x25 | 6-M12 | 24 | 41 | 95 25 | 429 | 23 94 35 14 6-M16 38 Fig-3
CM3-10A6 | M20x25 | 6-M16 | 18 | 46 | 110 30 | 493 | 34 8.2 40 16 6-M12 45 Fig-2
MHR-200C | 200 35 314 290 17 108 40 5500 0.098 22 038
CM3-10A8 | M20x25 | 6-M16 | 25 | 46 | 110 30 | 493 | 34 8.2 40 16 3-M8 45 Fig-1
CM3-10A11| M20x25 | 6-M16 | 28 | 46 | 110 30 | 493 34 8.2 40 16 6-M20 45 Fig-3
D A R
] : 8 CM3-12A6 | M20x25 | 6-M16 | 18 | 54 | 130 30 | 577 | 49 | 105 | so 18 6-M12 50 Fig-2
MHR-105C| 105 20 135 100 80 30 45 25 | 89 | 63 | 108 | 197 | M20x35 | 6-M10x20 | 21 | 69 ENI-TZAR | WoUxed |OWNG| &5 [ 9 | 39 o b 2 185 i L il i Flg=d
CM3-12A11| M20x25 | 6-M16 | 28 | 54 | 130 30 | 577 | 49 | 105 | s0 18 6-M20 50 Fig-3
MHR-125C| 125 | 25 | 160 | 130 | 110 | 35 | 51 | 26 | 97 | 63 | 108 | 205 | M24xa4 | 6-Mi2x24 | 25 | 69 ‘
CM3-15A8 | M30x35 [ 6-M20 | 24 | 63 | 165 43 | 775 | s0 | 213 | 62 | 255 | &M16 60 Fig-2
MHR-150C| 150 | 30 | 190 | 130 | 110 | 45 | s6 | 26 | 106 | 63 | 108 | 214 | M30x4s | 12-M12x24 | 31 | 69 CHRABAY | fdiana | Ewiss | 58 | &6 | i P i | 43 | 155 | & = Siie- | 498 Fig1
MHR-200C| 200 | 35 | 245 | 145 | 120 | 55 | 69 | 34 |122| 61 | 108 | 228 | M36x60 | 12-M13x30 | 37 | 67 CH3-15A15| M130x2 | 6-M20 | 29 | 66 | 165 43 82 | 452 | 152 | 62 22 6-M24 | 139 Fig-3




30 55 5p B2 1
ROTARY

HYDRAULIC
CYLINDER

HHR ch ZE [0 &8 i [BX ] (wawre)
THRU-HOLE ROTARY HYDRAULIC CYLINDER
WITH CHECK VALVE

3 55 5f [BR 1
ROTARY
HYDRAULIC
CYLINDER

HHS %3 24 op ZE 70 5 5 [BR ] (mwrm)
SHORT TYPE THRU-HOLE ROTARY HYDRAULIC
CYLINDER WITH CHECK VALVE

BEE B8 ALE -

RNEZILEB#HKE TEREEBNFRNER LIFGEE -
BERASEDABBRE  FEKFTH -

- Super high speed, light weight and large thru-hole.
- Built-in check valve, which prevents the internal pressure from
sudden decline, for the purpose of maintaining steady clamping.

S1 o P
[
=/ L
— i | )1
@ o' |50 | -
Q2 0Exo LN o]

N1 9 M \»JI

r
H
o S
. J
ABDR K
= e SR B A mAERER .
Pii?ig[) q;-}g“r%j& ’?’ft::i EE gistcﬁ\ma]:za Ma:;;?;ﬁ?crce ﬁn t"a);-:— M&"f’fﬂ"g“ﬁd I'\.E)E:Ent e !ﬁ;jf?;
“ holeDia. Stroke @ Push $@I Pull #41Push #171 Pull p'i;_,;iljmg PSPEEC ofinertia o9 leakage
cm? cm? kN kN MPa min-1 kg-m? kg L/min
HHR-536 105 36 15 ] 68 26 25 4.0 8000 0011 8.6 3.0
HHR-646 125 46 15 100 89 38 33 40 7000 0.019 12 3.0
HHR-852 155 52 22 161 150 60 56 40 6200 0.052 16.8 39
HHR-1075 180 75 25 198 183 74 69 4.0 4700 0.095 26 4.2
HHR-1291 205 9 30 252 234 94 88 40 3800 0.150 37 45
HHR-1512 250 1175 23 348 336 124 120 4.0 2800 0450 57 7.0
D fi B D
HHR-536 5136 | 136 | 115 | 100 | 48 15 0 39 24 71 126 [ 1745 | 6~M10x17 | M42x1.5 | 25 | M44X15 | 28
HHR-646 51169 | 155 | 130 | 100 65 15 ] 40 25 76 135 179 |12~M10x20{ M55x2 30 | M52X15 | 34
HHR-852 5188|190 | 170 | 130 | 70 22 0 | 475|255 | 84 | 1445 | 1905 |12-M10x20| M60x2 30 | M58X1.5| 35
HHR-1075 | 5 | 215 | 215 | 190 | 160 95 25 ] 50 25 95 166.5 | 225 [12~M10x20{ MB85x2 35 MB4x2 36
HHR-1291 | 5 | 240 | 240 | 215 | 180 | 110 30 (] 5% 25 104 182 248 |12~M12x24| M100x2 35 M99x2 38
HHR-1512 | 6 | 294 | 310 | 275 | 230 | 140 | 24 1 38 15 | 101 197 290 [12~M16x32| M130x2 45 | M134x2 | 38
D Q1 O Q1 Q Q A
: 9 8 g
HHR-536 38 36 11 27 [PT3E 42 3 o 64 4 1104 68 115 | M5x10 55 6-M5x12 88 47 65
HHR-646 50 46 11 | 36 |PT1/2| 50 85 6 76 | 4 | 118 76 114 | M6x9 64 | 4-M5x12 | 98 47 80
HHR-852 55 52 11 | 36 |PT1/2| 56 96 7 85 | 4 |137| 86 130 | M6x9 73 | 4-M6x12 | 110 47 85
HHR-1075 80 75 [175) 36 |PT1/2| 81 121 75 | 108 | 4 [ 165 | 101 159 Mbx9 98 4-M6ex12 | 155 47 120
HHR-1291 | ¢S5 91 21 | 36 |PT1/2| 96 138 T 120 | 4 [ 182 110 | 177 | M6x9 | 108 | 4-Mmex12 | 165 47 140
HHR-1512 | 123 |[117.5| 27 | 36 |PT1/2| 1346 | 178 T 160 | 5 | 232 | 129 215 Mbx9 148 | 4-Mex12 | 206 55 166

REZITRBHEEERETRER -
- ZERFROUHEEBR#EEZ -

- Bulit-in safety check valve and pressure relif valves.
- Can screw it from the rear end of the cylinder when mounting.

W‘!
2-ER RS Q7 P
A G 25
(Mounting Hole) "{&i o " 5 | |
4\@”“ A\ A
= % E
-3 \ T LE;'_—"F Af/l
. 2 i e
8 | @ t =T | | = a M‘lﬁl ( e o Bl o & s
{ w =3 | <}E \
= \
saimal o Iil —
(Pressure Port) 4 = 1 = \
M1
a i I nr |
L=l L
= g ==
i E " V. - E1
Corret 43 &2 ! Gl
J

PR ESEaE EYEEER EXEHED
Thru-  Piston Eff. piston area

hole Dia. Stroke @] Push #i@) Pull

EERE
Piston L.D.

7 Push  #1h Pull

BAEREN
Max. output force Max.
operating

pressure

cm? cm? kaf (kN) kaf (kN)

BEEBE
Max. speed

HEE (1)

Moment of -
inertia  velg

kgf/em? (Mpa) rp.m. (min-1) (kg - m?) kg

HHS-536 105 36 15 70.8 66.5 | 2690(26.3) | 2520 (24.6) | 40.8 (4.0) 8000 0.013 6.9 3.0
HHS-646 128 46 15 105 93 3990 (39.0) | 3530 (34.5) 40.8 (4.0) 7000 0.019 9.2 3.0
HHS-852 145 52 22 137 127 | 4922 (48.2) | 4558 (446) | 408 (4.0 6300 0.057 12.5 39
HHS-1075 170 75 25 171 157 6430(63) | 5910(58.0) | 40.8(4.0) 5500 0.07 17 42
HHS-1881K| 180 117.5 25 188.5 173.6 | 7166 (70.2) | 6599 (64.6) | 40.8 (4.0) 4800 0.09 21 43
HHS-1291 200 91 30 234 217.5 | 8870(88.7)| 8250 (81.6) | 40.8 (4.0 3800 0.1 27 45

G1 G2
max. min. max. min.

A 3
D, B Bl C D ,5E1

HHS-536 |105/138(143(115[125100] 5 |48 | 15 | 0 | 40 | 25 | 63.5]995 | 134 [12~M10X20| M8X70 | 15| M42X15 | 25 | 15 | M44x1s | 27
HHS-646 |128/162|165/130[147[100] 5 65| 15 | 0 | 44 | 29 |67.5| 97 [137.5|12~M10X20| M8X75 | 15| M55X2.0 | 30 | 15 | M52X1.5 | 29
HHS-852 |145185/184/170[165[130] 5 |70 | 21 | -1 | 44 | 22 |68.5| 98 | 138 [12~M10X20| M8X75 | 15| M60X2.0 | 30 | 15 | M58X1.5 | 30
HHS-1075 |170/215[212[190[190[160] 5 |95 | 25 | 0 | 49 | 24 | 85 | 120 | 171 [12~M10X20| M8X80 | 14| M85X2.0 | 35 | 15 | M84ax2.0 | 33
HHS-1881K]|180[225(229(205[205[168] 5 [100] 23 | -2 | 55 | 30 | 86 | 130 [184.5] 12-M12X24 [M10X1.5P| 16| MIOX2P | 35 | 15 | M89X2P | 38
HHS-1291 |200[243(245[215[225[180] 5 [110] 30 | 0 | 59 | 29 | 100 | 143 | 200 | 12-M12X24 [M10X1.5P 18 | M100X2P | 35 | 15 | M99X2P | 38

Sl e 0 0 ® i

4 (]
HHS-536 | 9 | 3836|955 |85 | 30 |PT1/a| 42 | 64 | 4 | 74 | 98 | 6 | 66 | 109 | 55 |msxs hﬁg')?e 1"
HHS-646 | 9 50|46 | 995 [ 85 | 36 |PT3/8| 52 | 76 | 4 | 85 | 116 | 65 | 765 | 120 | 64 |M6X6| seoc 1
HHS-852 | 9 |55|52| 100 [ 85 | 36 |PT3/8| 56 | 85 | 4 | 96 |128| 7 | 80 | 130 | 73 |[Mex7| 1% 1
HHS-1075 | 9 | 80|75 1155 10 | 40 |PTi/2| 81 | 108 | 4 | 121 [164 [ 65 | 95 | 160 | 98 |mexs| A2 | 1"
HHS-1881K|105| 85 | 81 | 144 [ 11 | 40 |PT1/2| 858 | 115 | 4 | 126 | 175 | 11 [ 105 | 174 | 103 [mexi0 o6 | 1
HHS-1201 | 9 | 95|91 | 145 [ 15 | 45 |PT1/2| 96 | 120 | 4 | 138|180 | 12 | 110 | 186 | 108 [M6X10| \ionp | 1"




